Year 4 - Money

-add and subtract 80p and 20p have a total
amounts of money to value of £I pound (&)
give change, using both The difference between 70p =
& and p in practical and 60p is 10p.
contexts £10 subtract £7 equals £3 | pence (p)
- recognising the value £20 subtract £3 and 25p
of coins, by adding and equals £16 and 75p @
subtracting amounts, The discount is the change So
including mixed. units, dif ference between two S
and giving change using amounts.
manageable amounts. discount @
= has the value of r)
£1 cost
equal —




